JCPSICE-2017 Set 09

Topic:- Set09_GS

1) Who is the author of 'Harry Potter series"?

2 uleR e & A@P BT AT T 7?2
[Question ID = 288871]

1. Michael Crichton / AsHd fhyd [Option ID = 1122181]
2. Rudyard Kipling / 3818 fdUfeiT [Option ID = 1122182]
3. Walt Disney / dlee T8I [Option ID = 1122184]

4. 3 K Rowling / S & 13T [Option ID = 1122186]

Correct Answer :-
« JK Rowling / ST & 3T [Option ID = 1122186]

2) Which one is not related to Myanmar?
38 A B WHUR A Safd 81 82
[Question ID = 288872]

1. Bama / §THT [Option ID = 1122189]
2. Myanma / ®ITHT [Option ID = 1122190]
3. Burma / gaf [Option ID = 1122191]
4. Minsk / fii¥@& [Option ID = 1122192]

Correct Answer :-
. Minsk/ﬁi@ﬁ [Option ID = 1122192]

3) What is the name of UIDAI Aadhaar app?

UIDAI 3TYR OF HT 19 T 22
[Question ID = 288875]

1. eAadhaar / s‘&nﬁm [Option ID = 1122198]

2. Connect / H+id¢ [Option ID = 1122200]

3. mAadhaar / TH3{TYUR [Option ID = 1122202]

4. linkAadhaar / fi@eMuR [Option ID = 1122204]

Correct Answer :-
» mAadhaar / TH3TYR [Option ID = 1122202]



4) Which one of the documents become mandatory for filling Income Tax returns in the year 2017-
2018?

Y 2017-18 # TP e+ @ B & T S SFaaw Sifard 99 T
[Question ID = 288876]

1. PAN Card / PAN EIF) [Option ID = 1122207]

2. Voter Identity Card / HdgIdl Ugdld U [Option ID = 1122208]
3. Aadhar Card / YR BTS [Option ID = 1122209]

4. Driving Licence / E'Igﬁﬂfﬂgﬁfﬂ [Option ID = 1122210]

Correct Answer :-
« Aadhar Card / TR T8 [Option ID = 1122209]

5) When the International Yoga Day is celebrated?

SARRTEN ART s Ha WA oIrelt €2

[Question ID = 288879]

1. 18t June / 18 S [Option ID = 1122216]
2. 215t June / 21 S [Option ID = 1122218]
3. 11% July / 11 S@T [Option ID = 1122221]
4. 25t July / 25 J@TS [Option ID = 1122223]

Correct Answer :-
o 215t June / 21 ST [Option ID = 1122218]

6) Where the Dandi village is situated, well known for Dandi March?
SISt u & e ST 9 aran <t ta wel (R 72
[Question ID = 288880]

1. Assam / 3H [Option ID = 1122225]

2. Rajasthan/ IISTRITT [Option ID = 1122226]
3. Punjab / USTTd [Option ID = 1122227]

4. Gujarat / TToRTd [Option ID = 1122228]

Correct Answer :-
e Guijarat / JJoIRTd [Option ID = 1122228]

7) Which one is an example of 'Zaid Crops'?

9 9 WG BId BT IS8V HIdT 82
[Question ID = 288881]

1. Cucumber / m [Option ID = 1122229]
2. Peanut / T [Option ID = 1122230]



3. Soyabean / TAT&H [Option ID = 1122231]
4. Oats / 3fI¥ [Option ID = 1122232]

Correct Answer :-
« Cucumber / &dbs! [Option ID = 1122229]

8) Which article of the Indian constitution grants special autonomous status to the state of Jammu
and Kashmir?

YR AU F P T GRT oF 3R FIHR o0 B FALY T Is9 $1 guif foar mar 82
[Question ID = 288884]

1. Article 360 / 37%¢ 360 [Option ID = 1122238]
2. Article 365 / 3fIs3¢ 365 [Option ID = 1122240]
3. Article 370 / 3fT=3¢ 370 [Option ID = 1122242]
4. Article 377 / 3I=3¢ 377 [Option ID = 1122244]

Correct Answer :-
e Article 370/ 31‘:1_%?{ 370 [Option ID = 1122242]

9) Where the "Elephanta Caves", a network of sculpted caves are located?

gffewer @1 ETe 'Teltther oo wel UG 7?2
[Question ID = 288885]

1. Gujrat/ T[ORTd [Option ID = 1122247]

2. Arunanchal Pradesh / 3RUTEd TR [Option ID = 1122249]
3. Maharashtra / HERTY [Option ID = 1122251]

4. Sikkim / ffde# [Option ID = 1122253]

Correct Answer :-
 Maharashtra / HgRRTY [Option ID = 1122251]

10) In which of the field Shri Mahabir Singh is receipient of Dhronacharya Awards 2017?

2017 ¥ ff wgTdR Riz & SRt e R faa &3 o frar ur?
[Question ID = 288888]

1. Wrestling / W [Option ID = 1122256]

2. Swimming / TP [Option ID = 1122259]

3. Gymnastics / frafes [Option ID = 1122261]
4. Athletics / TUQfea [Option ID = 1122263]

Correct Answer :-
« Wrestling / $=dl [Option ID = 1122256]



Name the Institution/Ministry that develops, execute and monitor the"Five Year Plans"?

Ty GieT o fapiid R fFrearfed & arell 9YT SHS! R S arell IRIT/HATed BT A6 Jdid|
[Question ID = 288889]

1. Ministry of Panchayati Raj / Ul XS HATAT [Option ID = 1122265]

2. NITI Aayog / Hifd 3TN [Option ID = 1122267]

3. Ministry of Rural Development / PICINACEARREEINE] [Option ID = 1122269]
4. Law Commission / T+ STNT [Option ID = 1122271]

Correct Answer :-
« NITI Aayog / =ifd 31T [Option ID = 1122267]

12) Who is the Inventor of Telephone?

TAwIF &1 fasep R fram fopar ur?
[Question ID = 288892]

1. Alexander G Bell / 3fciasigR Sft & [Option ID = 1122275]
2. James Dyson / S/ €139 [Option ID = 1122277]

3. John L Baird / S T& 998 [Option ID = 1122278]

4. Eli Whitney / Uil &gt [Option ID = 1122280]

Correct Answer :-
e Alexander G Bell / TS S 9 [Option ID = 1122275]

13) Which team is the winner of Sultan Azlan Shah Cup hockey champioship 2017?

™ AT e Y gio! B fasar S St 82
[Question ID = 288893]

1. Australia / 3fi%ferT [Option ID = 1122283]

2. India / HRd [Option ID = 1122284]

3. Great Britain / 3¢ foic [Option ID = 1122285]
4. Japan / SITUM [Option ID = 1122287]

Correct Answer :-
« Great Britain / 3¢ fsi¢= [Option ID = 1122285]

14) Who has written the "Gitanjali?

Mareifer & Aa® &1 A9 F1 82
[Question ID = 288896]

1. Annie Besant / Q‘ﬁéﬂ? [Option ID = 1122292]

2. Chand Bardai / 9g ERAE] [Option ID = 1122294]

3. Rabindra Nath Tagore / I8 @71R [Option ID = 1122297]
4. Prem Chand / 9 dg [Option ID = 1122299]



Correct Answer :-
« Rabindra Nath Tagore / Id=1Y 7R [Option ID = 1122297]

15) Which of the following is the capital of Belgium?

38 9 afeoraw o1 Iy Hiedt 82
[Question ID = 288897]

1. Hamilton / gffIee=T [Option ID = 1122301]

2. Sofia / TIftkAT [Option ID = 1122302]

3. Bridgetown / fasTers [Option ID = 1122303]
4. Brussels / H [Option ID = 1122304]

Correct Answer :-
« Brussels / & [Option ID = 1122304]

16) Who is the Chairperson of the State Bank of India?

YRR R 9F Pt e B 32
[Question ID = 288900]

1. Archana Bhargava / 3T Yrfg [Option ID = 1122310]

2. Arundhati Bhattacharya / 3rsefd llgﬁlTEf [Option ID = 1122312]
3. Chanda Kochhar / Tl ®1eR [Option ID = 1122314]

4. Chitra Ramkrishna / T JTAHWT [Option ID = 1122316]

Correct Answer :-
« Arundhati Bhattacharya / vyl 'J-IEFITCT [Option ID = 1122312]

17) How many "Bioshere Reserves" are there in India?

HRA # fraa TriRwR e 82
[Question ID = 288901]

1. 18 [Option ID = 1122319]
2. 19 [Option ID = 1122321]
3. 20 [Option ID = 1122323]
4. 21 [Option ID = 1122325]

Correct Answer :-
e 18 [Option ID = 1122319]

18) When the World Day for Water is organised?

fay vt feaw wa mAfSra giar 82

[Question ID = 288904]



1. 18t March / 18 AT [Option ID = 1122329]
2. 20t March /20 ] [Option ID = 1122331]
3. 22" March / 22 ] [Option ID = 1122333]
4. 24 March / 24 AT [Option ID = 1122335]

Correct Answer :-
« 22" March / 22 AR [Option ID = 1122333]

19) When the "Non-cooperation Movement" was launched in India?

HRA § SHEANT SMigie Ha Y= gl UT?

[Question ID = 288905]

1. 15t July 1919 / 1 S[@T8 1919 [Option ID = 1122337]
2. 15t August 1919 / 1 3R 1919 [Option ID = 1122338]
3. 15t July 1920 / 1 @S 1920 [Option ID = 1122340]
4. 15t August 1920 / 1 3FTRd 1920 [Option ID = 1122342]

Correct Answer :-
o 18t August 1920 / 1 3TRRd 1920 [Option ID = 1122342]

20) Who is the father of "White Revolution"?

A4 BIf & TP DI 22
[Question ID = 288908]

1. Verghese Kurein / @ffsl ST [Option ID = 1122351]

2. M S Swaminathan / T T WHAEE [Option ID = 1122353]
3. Arun Krishnan / 3% W[ [Option ID = 1122355]

4. Durgesh Patel / gﬁmu%a [Option ID = 1122357]

Correct Answer :-
« Verghese Kurein / 3\ 4 [Option ID = 1122351]

21) Where the well known battlefield "Haldi Ghati" is situated?

uiig I0TYFY gt U1t Fel R 32
[Question ID = 288910]

1. Gujrat / TTSRTd [Option ID = 1122360]

2. Uttar Pradesh / 3R WcxT [Option ID = 1122363]
3. Rajasthan / ISR [Option ID = 1122364]

4. Madhya Pradesh / e Yo [Option ID = 1122367]

Correct Answer :-
e Rajasthan / ISR [Option ID = 1122364]



22) How much cash prize is given by Government of India in Arjuna Awards?

ST SATEH § URd WRPR gRI fobasit g iy & 9rdt 32
[Question ID = 288913]

1. 3 lakhs / 3 ©IRd [Option ID = 1122369]
2. 3.5 lakhs / 3.5 AT [Option ID = 1122372]
3. 4 lakhs / 4 A9 [Option ID = 1122373]
4. 5 lakhs / 5 dId [Option ID = 1122375]

Correct Answer :-
e 5lakhs /5 {9 [Option ID = 1122375]

23) What is the time frame of first 'Five Year Plan’ in India?
YR § vgel taadfa g fad wrads # gars 18 A2
[Question ID = 288914]

1. 1947-1951 [Option ID = 1122378]
2. 1951-1956 [Option ID = 1122379]
3. 1956-1961 [Option ID = 1122380]
4. 1961-1966 [Option ID = 1122382]

Correct Answer :-
e 1951-1956 [Option ID = 1122379]

24) How many Indian states are ruled by BIP with its alliance?

YR F faq I=0) & v YAl & 1Y BIP ) TRHR 82
[Question ID = 288917]

1. 14 [Option ID = 1122388]
2. 15 [Option ID = 1122390]
3. 16 [Option ID = 1122392]
4. 17 [Option ID = 1122394]

Correct Answer :-
e 17 [Option ID = 1122394]

25) Name the Indian player who won the Victorian Open Squash title in Melborne on 17th july 2017,

I R fEarst &1 91 Farg, foram 17 a8 2017 ) AasH # fageiRaq siu whar faare sitar 4
[Question ID = 288918]

1. Saurav Ghosal / IRg T [Option ID = 1122396]
2. Ritwik Bhattacharya / 3f@d® e [Option ID = 1122397]
3. Sidharth Suchde / IS ?-fﬁilé [Option ID = 1122398]



4, Harinder Pal Sandhu / 8= maafrq [Option ID = 1122399]

Correct Answer :-
« Harinder Pal Sandhu / 8= tna%’rq [Option ID = 1122399]

26) Who has authored the famous romance based novel "Romeo and Juliet"?

A9 vy w A T Sfee Sy fPan o 22
[Question ID = 288921]

1. Charles Dickens / I femg [Option ID = 1122406]

2. Mark Twain / A& g1 [Option ID = 1122408]

3. Leo Tolstoy / foral efaeid [Option ID = 1122410]

4. William Shakespeare / fafera® afUTR [Option ID = 1122412]

Correct Answer :-
« William Shakespeare / faferas YRR [Option ID = 1122412]

27) Which of the following is currency of Oman?

39§ U P gEI BN 82
[Question ID = 288923]

1. Rial / IGTe [Option ID = 1122415]
2. Male / A& [Option ID = 1122417]
3. Dollar / SIeR [Option ID = 1122419]
4. Yen / T [Option ID = 1122421]

Correct Answer :-
e Rial/ Rard [Option ID = 1122415]

28) Name the Indian american chosen by NASA for mission to deep space.

I URATT SRS &7 A0 Fa1g, o NASA RT T8 3raiver R & forg g man 31
[Question ID = 288924]

1. Raja Chari / IS @RI [Option ID = 1122423]

2. Katy Perry / &l UR1 [Option ID = 1122425]

3. Justin Beiber / % S1eR [Option ID = 1122427]

4. David Grossman / Sfd€ A [Option ID = 1122429]

Correct Answer :-
e Raja Chari / RS [Option ID = 1122423]

29) What is the theme of year 2017 designated by United Nations General Assembly?

|G MY AETIHT A a9 2017 & g e A Fuifva faar g2



[Question ID = 288926]

1. International Year of Sustainable Tourism for Development / fawm & forg wimdt qdeq &1 W@T{ G [Option
ID = 1122432]

2. International year of Pulses / QT &1 &I?IW@H Gl [Option ID = 1122434]

3. International year of Light / YBR[ &bl am?rg‘h ¥ [Option ID = 1122436]

4. International year of Family farming / qIRaT® Wt &I SERT@“C[ Gl [Option ID = 1122438]

Correct Answer :-

« International Year of Sustainable Tourism for Development / faeT & foT wirt wie &1 SiaRvTSia ay
[Option ID = 1122432]

30) Who was called as "Father of Indian Unrest" by British colonial authorities?

fafewr siufafRe sifmeiival grRT "HRdT srrifa & fuar f&a a1 mar ur?
[Question ID = 288929]

1. Bal Gangadhar Tilak / §Td T1MeR fddd [Option ID = 1122442]

2. Tatya Tope / AT €U [Option ID = 1122444]

3. Gopal Krishna Gokhale / TIUTel W[ TRac [Option ID = 1122446]
4. Lala Lajpat Rai / dTclT dISTUd X [Option ID = 1122448]

Correct Answer :-
« Bal Gangadhar Tilak / ST TiT¢R fdei [Option ID = 1122442]

Topic:- Set09_GSci

1) Radius of curvature of a spherical mirror is equal to its Focal length ( f)

MATHR U Bt IehaT &1 Bsar gaat BI6Y gil ( f ) & SRTER g1 [Question ID = 289050]

1. once / U [Option ID = 1123030]

2. thrice / o9 T[T [Option ID = 1123031]

3. twice / G [Option ID = 1123032]

4, four times / Eﬂ?‘l’rﬁ [Option ID = 1123033]

Correct Answer :-
e twice/ gll:il [Option ID = 1123032]

2) is the law of electromagnetism predicting how a magnetic field will
interact with an electric circuit to produce an electromotive force (EMF)—a phenomenon called
electromagnetic induction

figad 99® @ o1 ST 8 ot HiIsgaTht o1 § 5 9e9a 87 e saecifed sa
(W)mﬁﬁmmﬁ%ﬁqﬁwwﬁﬁ%muﬁmm fagaa e IRUT ATHS TS geT
[Question ID = 289051]

1. Flemming's right hand rule / TRITERT &7 QlfeA 814 &1 Fa| [Option ID = 1123034]
2. Faraday's law of induction / ThRTS T URUT T f49H [Option ID = 1123035]

3. Flemming's left hand rule / GRIfET &1 STU 81 &1 49 [Option ID = 1123036]

4. Couloumb's law / HET &1 fAH [Option ID = 1123037]



Correct Answer :-
» Faraday's law of induction / TS T URUT BT FaH [Option ID = 1123035]

3) Resistance (R) of a wire is proportional to its area of cross-section (A)
TS dR BT UfaRIY (R) § S U P & &6 (A) F 3TUTfa® 81 [Question ID =
289052]

1. inversely / &chH [Option ID = 1123038]

2. directly / Y& [Option ID = 1123039]

3. equally / FHTF [Option ID = 1123040]

4. none of these / 15 &l [Option ID = 1123041]

Correct Answer :-
« inversely / &chH [Option ID = 1123038]

4) The power P of a lens of focal length f are

f BIwd gil & A Pt R p IR & [Question ID = 289053]

1. inversely related / ehH =0 F Hdifeid [Option ID = 1123042]
2. directly related / TeT H&ifed [Option ID = 1123043]

3. devisible / HTSY [Option ID = 1123044]

4. multiple of each other / T @3\’ Gl 0TS [Option ID = 1123045]

Correct Answer :-
« inversely related / Fhd ¥U ¥ Hefdd [Option ID = 1123042]

5) Calcium phosphate is present in tooth enamel. Its nature is

FiRTaH Biebe gid & TATHd § HIS[G §1d1 §1 $HPI UHfd ____ Tidl 31 [Question ID = 289054]

1. basic / &RId [Option ID = 1123046]

2. acidic / 3T [Option ID = 1123047]

3. neutral / S [Option ID = 1123048]

4. amphoteric / IygyHf [Option ID = 1123049]

Correct Answer :-
« basic / &R [Option ID = 1123046]

6) Right hand rule:The index finger points in the direction of the velocity vector v. The middle finger
points in the direction of the magnetic field vector B. The thumb points in

e fad: qoi-t AT 9fe™r v 3t fa=m o1, v ety & 3 fa=m afewr B & gxifar @ sk siysT v
fa=m &Y g=ifar 82 [Question ID = 289055]

1. direction of cross product F / 3= (WUH) U F ot fe=n g [Option ID = 1123050]

2. direction of divisibility of products F / T[0Tt F & fauTSTdar 1 fG=m & [Option ID = 1123051]
3. direction of addition of products / TTOF®H ! & T &1 fa=M T [Option ID = 1123052]

4, direction of subtraction of products / ‘IUHW & gerd $i fe=n o [Option ID = 1123053]

Correct Answer :-



« direction of cross product F / 3= (1) 70 F I fG=M T [Option ID = 1123050]

7) By a sexual reproduction, an organism creates a genetically similar or identical copy of itself
called as

gﬁﬁﬁwmﬁﬂamﬁemﬁmwﬁwwﬁvﬁuﬁﬁlﬁﬁﬁam%ﬁ Pgardl
|

[Question ID = 289056]

1. clone / @@ [Option ID = 1123054]

2. offspring / d [Option ID = 1123055]
3. baby / §&T [Option ID = 1123056]

4. fawn / 19 [Option ID = 1123057]

Correct Answer :-
« clone / 9@ [Option ID = 1123054]

8) The formula for Magnification produced by spherical mirrors is

MeTH ST gRT IUT MY BT Y & [Question ID = 289057]

1. negative of v/u / U1 v/u [Option ID = 1123058]
2. positive of v/u / 8 v/u [Option ID = 1123059]
3. negative of u/v / U u/v [Option ID = 1123060]
4. positive of u/v / Y9 u/v [Option ID = 1123061]

Correct Answer :-
» negative of v/u / 30T v/u [Option ID = 1123058]

9) Live wire has
the domestic circuits.

insulation cover, whereas earth wire has insulation colour in

SI]d aR # fae T 3marvr 8T 8, 9afP W IR W 3(TaY0T BIdT 2| [Question ID = 289058]

1. green, yellow / &I, dtar [Option ID = 1123062]
2. yellow green / Gidl, 81 [Option ID = 1123063]
3. red, green / dd, gXI [Option ID = 1123064]

4. red,blue / 9Td, =iIell [Option ID = 1123065]

Correct Answer :-
» red, green / dld, g1 [Option ID = 1123064]

10) Identify a non-manget out of the following:

fFrafafaa 9 3 srgia® 3t U9 - [Question ID = 289059]

1. Spherical Magnet / WW [Option ID = 1123066]
2. Ring Magnet / 99 & [Option ID = 1123067]

3. Bar Magnet / S gri® [Option ID = 1123068]

4. Square Magnet / aﬁw [Option ID = 1123069]



Correct Answer :-
« Square Magnet / ¥ i [Option ID = 1123069]

11) The total number of groups that a modern periodic table has are

yfe 3mad IRU A $a fFaa Y 82 [Question ID = 289060]

1. 16 [Option ID = 1123070]
2. 17 [Option ID = 1123071]
3. 18 [Option ID = 1123072]
4. 7 [Option ID = 1123073]

Correct Answer :-
e 18 [Option ID = 1123072]

12) Each kidney has large numbers of these filtration units called packed close
together
TP 7 H I8! &N § T8 aW® fARic s1gal U Uty gt gt €1 [Question ID = 289061]

1. neurons / W [Option ID = 1123074]
2. nephrons / A1 [Option ID = 1123075]
3. nerves / df®TY [Option ID = 1123076]
4, ureters / IE!HT%:ﬁ [Option ID = 1123077]

Correct Answer :-
« nephrons / A% [Option ID = 1123075]

13) The divides the angle between the incident ray and the reflected ray into two
equal angles.

arufer favor sk uRafda fvor & s & S &1 3 Tu= Hion § fauTira ®war 81 [Question ID
= 289062]

1. normal line / TG &1 [Option ID = 1123078]

2. incedence ray / 3fTUfdd fbR01 [Option ID = 1123079]
3. reflected ray / GRTafdd f0T [Option ID = 1123080]
4. transverse ray / &EW]%TUT [Option ID = 1123081]

Correct Answer :-
« normal line / TG ¥4I [Option ID = 1123078]

14) used almost exclusively for filament of electric lamps

fagua du & dgsii & forw BT YN ff¥par faRiv =0 A foran SITar 81 [Question ID = 289063]

1. Tungsten / <7Re [Option ID = 1123082]
2. Copper / d¥ [Option ID = 1123083]

3. Alluminium / TGAATY [Option ID = 1123084]
4. Silver / dicl [Option ID = 1123085]

Correct Answer :-



« Tungsten / ¢TI [Option ID = 1123082]

15) The cathode is the terminal which contains

FUrs 95 cfi=a g, foraH §ia1 8, [Question ID = 289064]

1. excess of cations: this is the positive terminal / 3ifafRed ¢-TH: I YT i & [Option ID = 1123086]
2. excess of anions: this is the positive terminal / SifaRad Foma: g8 Y= efifaa %‘ [Option ID = 1123087]
3. excess of cations: this is the negative terminal / e 4=r-: g8 HUTdHSG e % [Option ID = 1123088]
4. excess of anions: this is the negative terminal / 3R FBUME: I8 BUNHS <fH—d & [Option ID = 1123089]

Correct Answer :-
« excess of cations: this is the positive terminal / 3fARad ¢FIA: T8 Y-S efH-d & [Option ID = 1123086]

16) Find the odd man out

3R $! 989 [Question ID = 289065]

1. Argon / 34 [Option ID = 1123090]

2. Krypton / fP19 [Option ID = 1123091]

3. Xenon / @i [Option ID = 1123092]

4. Yetterbium / TexfSTH [Option ID = 1123093]

Correct Answer :-
« Yetterbium / TexfagH [Option ID = 1123093]

17) Name the plant hormones responsible for growth of stem

39 9 BTHIA BT A9 9a1¢ il 91 P fqerg & e SR 81a1 81 [Question ID = 289066]

1. GIBBERELLIN / fofsiefi [Option ID = 1123094]

2. CYTOKININ / ST8cifasf= [Option ID = 1123095]

3. ETYLENE / Q3feH [Option ID = 1123096]

4. ABSCISIC ACID / TfetRie TRTS [Option ID = 1123097]

Correct Answer :-
« GIBBERELLIN / fSTsieii<T [Option ID = 1123094]

18) Identify the statement which is false for biodegradable products:

39 HYF B UgAH, S SIS Td IATe! & fore Ted 8: [Question ID = 289067]

1. Capable of being broken down (decomposed) rapidly by the action of microorganisms. /H\&ﬂ\_rﬂ?ﬁ CARIGICIRED
HRUT delt ¥ fJafed gid § [Option ID = 1123098]

2. Can be reused and reclycled by human processes / AT Ufsharaif & gRT 3T G-: SUTNT 8 Wbl § T 3!
g d fopam ST Gebdn @ [Option ID = 1123099]

3. commonly associated with environmentally-friendly products / IMH =4 3 W—W I § Yefd g
[Option ID = 1123100]

4. Decomposition of biodegradable substances may include both biological and abiotic steps. / SRfSISsd TaTdf
¥ fages & Sfaw iR srifasws S Ber i 81 ¥ g1 [Option ID = 1123101]

Correct Answer :-



« Can be reused and reclycled by human processes / ATFdT UfehaTsii & GRT 361 GH: SUINT §1 bl g AT
3! RATgdHd a1 ST ¥ahdT & [Option ID = 1123099]

19) A point on its principle axis to which all the light rays which are parallel and close to the axis,
converge after reflection from the concave mirror is

= 3igf R 98 fag, Foraw aft uemr fvol ot Jumiar a1 ¢t & o9 ¢ sraad gdur & Wiad= & uyrd
Sfirafya gt & 21 [Question ID = 289068]

1. principal center of a concave mirror / 3{ddd gqur H1 qoq % [Option ID = 1123102]
2. principal focus of a concave mirror / 3fddd YT & 7 BiHd [Option ID = 1123103]
3. principal focus of a convex mirror / 3Td U H1 qJe1 By [Option ID = 1123104]
4. principal center of a convex mirror / 3Tdl qur H1 q=T &% [Option ID = 1123105]

Correct Answer :-
« principal focus of a concave mirror / 3fddd gy WH@IW [Option ID = 1123103]

20) The direction of rotation of the loop in an electric motor is given by the

fagaa diex & qu & goiv 91 fa=m FRT &t &Il g

[Question ID = 289069]

1. Newton's left hand rule / WWGTQEW?WH [Option ID = 1123106]

2. Faraday's Law / Th_1S &1 f9TH [Option ID = 1123107]

3. Fleming's left hand rule / GIfHTT &1 &TQ 81 &1 f9H [Option ID = 1123108]
4. Ohm's law /3T &1 99 [Option ID = 1123109]

Correct Answer :-
« Fleming's left hand rule / TRIfEHT ST &TU 8TY &I f99H [Option ID = 1123108]

Topic:- Set09_GSJ

1) The first Chief Minister of Jharkhand was from which political party ?

ARG F Ugd g B A Tefae g U2
[Question ID = 289150]

1. Bharatiya Janata Party / 1-FI'{_cﬂ?II\_rl:l?ITtﬂ?.pf[Option ID = 1123430]

2. JMM Jharkhand Mukti Morcha / SIR@S Hfad AT [Option ID = 1123431]
3. Congress / @YY [Option ID = 1123432]

4, Independent / ¥d4 [Option ID = 1123433]

Correct Answer :-

« Bharatiya Janata Party / YR GFHTtITcpf[Option ID = 1123430]

2) Who was appointed the third Chief minister of Jharkhand ?

FRTS & diax gerEs fed fArge fear mar ar?



[Question ID = 289151]

1. Madhu khoda / H?{\@ST [Option ID = 1123434]
2. Arjun Munda / &IT{I:IHET [Option ID = 1123435]
3. Shibhu Soren / RRIg IR [Option ID = 1123436]
4. Hemant Soren / Hd TRA [Option ID = 1123437]

Correct Answer :-
e Shibhu Soren / ﬁl@ﬁi 3 [Option ID = 1123436]

3) Name the Jharkhand Governor who inaugurated JSCA cricket stadium in 2013

PRTES & I TR &1 0 Fa1¢, ORI 2013 F STaRiT fbde wRfeaw 1 3gure fFan
[Question ID = 289152]

1. Syed Ahmed / gsq 38HS [Option ID = 1123438]

2. Draupadi Murmu / S19d! G5 [Option ID = 1123439]

3. Syed Sibtey Razi T3¢ ¥ ISH [Option ID = 1123440]
4. Birsa munda / 991 &1 [Option ID = 1123441]

Correct Answer :-
e Syed Ahmed / W8S e [Option ID = 1123438]

4) What is the approximate percentage share of graphite in Jharkhand with respect to India’s total
graphite reserve ?

YRd & $d UBIsc Rod & ey § gIRES § YBTge &7 SH1-a ufasra e w82
[Question ID = 289153]

1. 7.38% [Option ID = 1123442]
2. 25.70% [Option ID = 1123443]
3. 35% [Option ID = 1123444]

4. 40% [Option ID = 1123445]

Correct Answer :-
e 7.38% [Option ID = 1123442]

5) What is the percentage area of Purbi Singhbhum district as compare to the entire area of
Jharkhand state ?

ARG T & T & B o1 § e RigyA et &1 ufewra &7 w82
[Question ID = 289154]

1. 3.01% of the whole state / Uj\f X Dl 3.01% [Option ID = 1123446]

2. 2.03% of the whole state / ?Tq:ﬂh'l@:[ Dl 2.03% [Option ID = 1123447]
3. 1.02% of the whole state / TYUf I &T 1.02% [Option ID = 1123448]
4. 4.01% of the whole state / H{UTTIGJ h1 4.01% [Option ID = 1123449]

Correct Answer :-



* 2.03% of the whole state / H‘{Uﬁﬁq Dl 2.03% [Option ID = 1123447]

6) Mica is mostly found near which blocks of Giridih ?

IYH e RINEIE & fog TR & U UTe &irdr &2
[Question ID = 289155]

1. Sonar and latehar / TR 3R @8R [Option ID = 1123450]

2. Dumka and Sonar / gH®1 3R AR [Option ID = 1123451]

3. Purna and chintikiya / 9R-T 3R e [Option ID = 1123452]
4. Tisri and Gawan / fag<t 3R TGt [Option ID = 1123453]

Correct Answer :-
« Tisri and Gawan / fag<} 3R TG [Option ID = 1123453]

7) Basantrai is located in which district of Jharkhand ?
THRTS RIS & fra o o fRa @2
[Question ID = 289156]

1. Palamau district / Wﬁﬁﬂ(ﬂ [Option ID = 1123454]
2. Godda / TlieaT [Option ID = 1123455]

3. Bokaro / SI®RI [Option ID = 1123456]

4. Latehar / ATd8R [Option ID = 1123457]

Correct Answer :-
« Godda / Mg [Option ID = 1123455]

8) How much money is given as money stipend as under the scheme of sports ?

W BT & YIS P dgd fbd-T o faar e 82
[Question ID = 289157]

1. Rs 3,000 per month / ¥ 3,000 Ufd HTE [Option ID = 1123458]

2. Rs 6,000 per month / 6,000 I0Y ufd HIg [Option ID = 1123459]
3. Rs 4,000 per month / 4,000 39Y gfd 918 [Option ID = 1123460]
4. All of these / Tt [Option ID = 1123461]

Correct Answer :-
« All of these / T4t [Option ID = 1123461]

9) Good weavers belong to which tribe?

3BT AP fFT FlA | el g2
[Question ID = 289158]

1. Chik-Baraik / fa@ &TR@® [Option ID = 1123462]



2. Mal -Pahariya / Hidl UgRaT [Option ID = 1123463]
3. Birhor / fSRER [Option ID = 1123464]
4. Asur / 3R [Option ID = 1123465]

Correct Answer :-
« Chik-Baraik / & S1R® [Option ID = 1123462]

10) Among Indian States ranking of Jharkhand in terms of Scheduled Tribe Population is....?
SAYFRIA FSIfd SIS & HTHA § FIRES B UG sl &1 T A e § .2
[Question ID = 289159]

1. 2" rank / ORI Y& [Option ID = 1123466]
2. 6t rank / 6 @ & [Option ID = 1123467]
3.5t rank / 5 df 3 [Option ID = 1123468]
4. 10™ rank / 10 df ¥ [Option ID = 1123469]

Correct Answer :-
. 6th rank / 6 CIEGT [Option ID = 1123467]

11) In state of Jharkhand, cattles are washed and worshipped, in which of following festival?

FRES ST H, T 1T o1 € 3R Tolr Y Sl @, 379 & fFrafefead dierl #2
[Question ID = 289160]

1. Bhagta Parab / HIFTdT URd [Option ID = 1123470]
2. Sohrai / TIgxTg [Option ID = 1123471]

3. Alok / 3fTdlid [Option ID = 1123472]

4. Jtiya / SIf¢aT [Option ID = 1123473]

Correct Answer :-
« Sohrai / TETg [Option ID = 1123471]

12) Name the 2 subdivisions in which Garhwa district has been divided ?

Tear fora @1 favnfora forar man 8, s 2 Su-fyrs=i &1 =9 «a1 82
[Question ID = 289161]

1. Chakulia and Gurabandha / ﬂ@ﬁ*ﬁﬂ SﬁTEﬁi’H [Option ID = 1123474]
2. Dhalbhum and Ghatshila / GTTHH 3R "Te=fiar [Option ID = 1123475]
3. Potka, Patamda / i€, UdHaT [Option ID = 1123476]

4. Garhwa & Nagar-Untrai. / Tedl G?ITW-G{@E‘? [Option ID = 1123477]

Correct Answer :-
» Garhwa & Nagar-Untrai. / TTgd S?ITWGH%:&: [Option ID = 1123477]



13) Asur, a tribe in Jharkhand is resident of which of the following districts?

IR, FRTS § T wuta, 7 A | 5w ford &1 Famd 82
[Question ID = 289162]

1. Goddah / TIETE [Option ID = 1123478]

2. Singhbhum / ﬁim{q [Option ID = 1123479]
3. Palamau / UdT¥H [Option ID = 1123480]

4. Ranchi / It [Option ID = 1123481]

Correct Answer :-
» Singhbhum / ﬁ"T‘J-‘E:l [Option ID = 1123479]

14) Tatanagar is also known by which name?

TR &) 67 79 A +ft 5171 &1t 22
[Question ID = 289163]

1. Jamshedpur / \_rl'ﬁl‘\ﬁ"q"g? [Option ID = 1123482]
2. Bokaro / BRI [Option ID = 1123483]

3. Dhanbad / ¥-dlg [Option ID = 1123484]

4. Ranchi / NEl [Option ID = 1123485]

Correct Answer :-
« Jamshedpur / STERIGYR [Option ID = 1123482]

15) Which state is located in the East of Jharkhand?

FRWUS & U4 § S T1 79 A 82
[Question ID = 289164]

1. West Bengal / Gf#/H TTd [Option ID = 1123486]
2. Madhya Pradesh / e U [Option ID = 1123487]
3. Assam / 3f8H [Option ID = 1123488]

4. Uttar Pradesh / 3TR WaRl [Option ID = 1123489]

Correct Answer :-
« West Bengal / Gf3H &TITeT [Option ID = 1123486]

16) Laterite soil is not found in which area of Jharkhand?

FREUS & 5T I & dexrge ) 7Y urdht ot 82
[Question ID = 289165]

1. Western part of Ranchi / eI B e o [Option ID = 1123490]
2. Palamu / UdITH [Option ID = 1123491]

3. Parts of Santhal / F4Td & $ YTl T [Option ID = 1123492]

4. Rajmahal / ITsTHgd [Option ID = 1123493]



Correct Answer :-
» Rajmahal / IISTHE [Option ID = 1123493]

17) What is the capital of Jharkhand?

FRGUS B IS T 82
[Question ID = 289166]

1. Bokaro / SI&RI [Option ID = 1123494]

2. Ranchi / 3=l [Option ID = 1123495]

3. Dhanbad / Y-dTq [Option ID = 1123496]

4. Jamshedpur / \_rl'ﬁl'-‘ﬁ'c{ER [Option ID = 1123497]

Correct Answer :-
« Ranchi / 3= [Option ID = 1123495]

18) The evidences of copper utensils and tools from early stone age are found in

AT TRR BT IY A q16T & T 3R IUSUT & THTUT UTE ST &
[Question ID = 289167]

1. Bokaro and Deogarh / THRI ﬁ?éﬂ"ﬁ{ [Option ID = 1123498]

2. Dumka and Banda / gH®I1 3R Fiar [Option ID = 1123499]

3. Bundu and Dahigadha / §g 3R &fg™eT [Option ID = 1123500]

4. Karharbari and Bargunda / @RETS! 3R §7&T [Option ID = 1123501]

Correct Answer :-
« Karharbari and Bargunda / @R@T8! 31k sR3[eT [Option ID = 1123501]

19) Durjan Sal ,the ruler of Jharkhand was released from prison due to his expertise of diamonds by
the Emperor

3ol I, THTe gRT R Ft - Faugran & FRU IRGS & 59 o &t 9a S feer foar mar
[Question ID = 289168]

1. Akbar / 3f&R [Option ID = 1123502]

2. Jahagir / SR [Option ID = 1123503]

3. Humayun / E‘J:ITi[Option ID = 1123504]

4. Sher Shah Suri / 2R 18 3 [Option ID = 1123505]

Correct Answer :-

» Jahagir / SIgFIR [Option ID = 1123503]

20) In the context of Jharkand Olympic Association (JOA) , Consider the following statements which
is / are correct?

IRES 3Mdiue T (m$3nv) F HeH , Al saHl w ferR 3 / #1981 82



[Question ID = 289169]

1. It works under Indian Olympic Association (I0A) / dg YR 3Ncifte 9 (311§3ﬁ12) & d8d B HAT 8 [Option
ID = 1123506]

2. It is an independent institution / I8 T = TRIT § [Option ID = 1123507]

3. It works department of youth and culture / T8 T 3R TP fIHRT 6T HTH HaT § [Option ID = 1123508]

4. None of these / TR Y Eﬁ'sc T8l [Option ID = 1123509]

Correct Answer :-

« It works under Indian Olympic Association (IOA) / T8 MR et T (3MS3HT) & T8 HH HRT §
[Option ID = 1123506]

21) Which city of Jharkhand is famously known as ‘Queen of Mountains'?

FREUS § UGTS! Bt I & A1 T B AT T TG 82
[Question ID = 289170]

1. Dhanbad / &-&TG [Option ID = 1123510]
2. Netarhat / d<@Te [Option ID = 1123511]
3. Bokaro / f1®RI [Option ID = 1123512]

4. Ranchi / RE|| [Option ID = 1123513]

Correct Answer :-
« Netarhat / dRgTe [Option ID = 1123511]

22) How many major rivers flow in Jharkhand?
FREUS ® fa-t g Afedr gt 82
[Question ID = 289171]

1. 4 [Option ID = 1123514]
2. 6 [Option ID = 1123515]
3. 8 [Option ID = 1123516]
4. 10 [Option ID = 1123517]

Correct Answer :-
e 8 [Option ID = 1123516]

23) What is the total length of National Highways in Jharkhand as per census 2011?

2011 B FTHIUMAT F SJHR FREUS § AP ASHRT Bt oI daTs [Pail 82
[Question ID = 289172]

1. 830 km [Option ID = 1123518]

2. 1844 km [Option ID = 1123519]
3. 1300 km [Option ID = 1123520]
4. 1800 km [Option ID = 1123521]

Correct Answer :-



« 1844 km [Option ID = 1123519]

24) State of Jharkhand falls under which type of climatic region?

RS 4 fFd YPR & Siaary 851 & iaifa 3mar 82
[Question ID = 289173]

1. Temparate Monsoon / RGN araf%@ [Option ID = 1123522]
2. Tropical Monsoon / SWIT& CsE [Option ID = 1123523]

3. Arid / SR [Option ID = 1123524]

4. Equitorial Monsoon / Q{H?ﬂwﬁ Eﬂ?ﬂcﬂﬁ [Option ID = 1123525]

Correct Answer :-
« Tropical Monsoon / SWM&fCET [Option ID = 1123523]

25) What is the average annual temperature of Jharkhand?

YRWUS P N T dTIHH HT 82
[Question ID = 289174]

1. 32°C [Option ID = 1123526]
2. 25°C [Option ID = 1123527]
3. 20°C [Option ID = 1123528]
4. 29°C [Option ID = 1123529]

Correct Answer :-
e 25°C [Option ID = 1123527]

26) What is the rural sex ration of Jharkhand, as per census 2011?

2011 $t TRIVAT F AR FRYUS BT ITHOT 7 Srgura Fam 32
[Question ID = 289175]

1. 940 [Option ID = 1123530]
2. 961 [Option ID = 1123531]
3. 930 [Option ID = 1123532]
4. 980 [Option ID = 1123533]

Correct Answer :-
e 961 [Option ID = 1123531]

27) What was the name of Jharkhand during Mughal period?
TITd HTd B FTRWVS B 5T AT | ST AT 4?2

[Question ID = 289176]

1. Kukara / @& [Option ID = 1123534]



2. Magadh / H7TY [Option ID = 1123535]
3. Awadh / 3/@¥ [Option ID = 1123536]
4, Jhadis / TSI [Option ID = 1123537]

Correct Answer :-
e Kukara / @&HT [Option ID = 1123534]

28) Surajkund hotspring is located in which district of Jharkhand?

WP s BT TR U F1 Td IRTUS & 59 fora o fRua 32
[Question ID = 289177]

1. Hazaribagh / 9IRISTT [Option ID = 1123538]
2. Ranchi / NE|l [Option ID = 1123539]

3. Palamu / G [Option ID = 1123540]

4. Godda / TIST [Option ID = 1123541]

Correct Answer :-
« Hazaribagh / 5IRI&TT [Option ID = 1123538]

29) In which year production of Iron steel started in Jharkhand?

FREUS | We-30UTd & T B o3 fora a8 A g2
[Question ID = 289178]

1. 1913 [Option ID = 1123542]
2. 1930 [Option ID = 1123543]
3. 1947 [Option ID = 1123544]
4. 1949 [Option ID = 1123545]

Correct Answer :-
e 1913 [Option ID = 1123542]

30) In which city of Jharkhand ‘Science Centre’ has been set-up?

FREUS & fory wex A g S g9mar T g2
[Question ID = 289179]

1. Dhanbad / 4-dTg [Option ID = 1123546]

2. Bokaro / §1®RI [Option ID = 1123547]

3. Ranchi / 3= [Option ID = 1123548]

4. Jamshedpur / Glﬂ'-‘ﬁ?g? [Option ID = 1123549]

Correct Answer :-
« Ranchi / 3= [Option ID = 1123548]

Topic:- Set09_MANnLR



1) If in a code language radio is written as ball, teeth is written as mail, fan is written as eye, table
is written as rice and computer is written as pencil, what would you need to read your e-mails ?

3R PIs HIUT § ¥ETY, g & U A forar wirar @, Ot Sid &) §d & U § forar a1 8, U@ 3 3@ & =y &
R SiTan 8, 39 ) T1ad F U § forar wirar 8 3R e &1 iR & wu A forar wrar 8, Ut 3= §-
N P UG P TT TTRIHT gHIT?

[Question ID = 290269]

1. Computer / &R [Option ID = 1127806]
2. Eye / 3{i9 [Option ID = 1127807]

3. Fan / U [Option ID = 1127808]

4. Pencil / i@ [Option ID = 1127809]

Correct Answer :-
« Pencil / UR¥a [Option ID = 1127809]

2) Four friends, Vijay, Ajay, Sujay and Jay are standing in an horizontal line each facing the same
direction, if Jay isnt standing between Ajay and Sujay who is on one extreme end and there is no
one to the extreme left of Jay while at least one person is to the right of Vijay, who amongst the
following is one the extreme left of the group ?

IR S faor, 31od, Jord SR o1 U & o= & s afast W1 § @3 7, ofR o1, 3iord 3R gorg dfa =18t
W1 € ol fh T TH O W EL ¢ 3R oG & qid 918 3R P 781 { viafd o9 A $H vs cafed favra &
LIRS, U AAPT TR S RA IS iR T ?

[Question ID = 290270]

1. Jay / 519 [Option ID = 1127810]

2. Sujay / goId [Option ID = 1127811]
3. Vijay / fdSig [Option ID = 1127812]
4. Ajay / 3IS19 [Option ID = 1127813]

Correct Answer :-
e Jay /ST [Option ID = 1127810]

3) How many alphabets of the English alphabet series when written in Capitals appear same when
looked at in the mirror ?

3eft quiaTar 1 98 SR H REA W AR SER U A eI A W AR 2
[Question ID = 290271]

1. 3 [Option ID = 1127814]
2. 22 [Option ID = 1127815]
3. 7 [Option ID = 1127816]
4. 11 [Option ID = 1127817]

Correct Answer :-
e 11 [Option ID = 1127817]



4) Select the analogy which you think matches best in the given example.

2 & 7 s ®Y quf BT 22 : 10 :: 84 : ? REPEAT QUESTION
[Question ID = 290272]

1. 41 [Option ID = 1127818]
2. 25 [Option ID = 1127819]
3. 57 [Option ID = 1127820]
4. 36 [Option ID = 1127821]

Correct Answer :-
e 41 [Option ID = 1127818]

5) Pointing towards photograph, Y said to his colleague Z, "She is the only daughter of the father of
my mother." Find out the relation of Y the person of photograph?

TR F1 3R FPd Id §Y, a1E 7 37 Feantt S A bel, "9 A8 | S a1 F vHuE 98 1" 918 3R
TR & AR BT TR~ IAT3T?

[Question ID = 290273]

1. Son / A [Option ID = 1127822]

2. Brother / HT8 [Option ID = 1127823]

3. Nephew / TSI TT YiST [Option ID = 1127824]
4. Daughter / AT [Option ID = 1127825]

Correct Answer :-
» Son / YA [Option ID = 1127822]

6) In a certain code, BREAKTHROUGH is written as EAOUHRBRGHKT. How is DISTRIBUTION written
in that code?

Fe Ul # 9f¢ BREAKTHROUGH &Y EAOUHRBRGHKT {311 @TaT 8 dt DISTRIBUTION 1 & forar
ST?

[Question ID = 290274]

1. TISTBUONDIRI [Option ID = 1127826]
2. STTIBUONRIDI [Option ID = 1127827]
3. STTIBUDIONRI [Option ID = 1127828]
4. None of these / 3TH ¥ &I -Tg! [Option ID = 1127829]

Correct Answer :-
o STTIBUDIONRI [Option ID = 1127828]

7) Select the missing numbers from the given alternatives.
fau v fiweu | SrqufRua T= &1 Ia= Y|

215670



45 87 84
1151802

[Question ID = 290275]

1. 130 [Option ID = 1127830]
2. 120 [Option ID = 1127831]
3. 110 [Option ID = 1127832]
4. 140 [Option ID = 1127833]

Correct Answer :-
e 130 [Option ID = 1127830]

8) In a certain language MANGER is written as LZMFDQ. How is TRIPPLE written in that code?

gfe B uTaT § MANGER & LZMFDQ fraT &iTaT 8 af TRIPPLE &1 3% forar simeam?
[Question ID = 290276]

1. SQHOOPB [Option ID = 1127834]
2. SQHOKPB [Option ID = 1127835]
3. SQHOOKB [Option ID = 1127836]
4. SQHOOKD [Option ID = 1127837]

Correct Answer :-
* SQHOOKD [Option ID = 1127837]

9) In the following problem, = stands for +, + stands for -, X stands for =, - stands for + and +
stands for x. Find the correct equation.

A H, = P13 + €, + DT AT- B, x P13 = @, - B71 31 + @ 3X =+ &1 31 x 2. o I Ao
qamg|
[Question ID = 290277]

1.8+4+1-5=6 x4 [Option ID = 1127838]
2.4%x6+4+4=7[Option ID = 1127839]

3.96 + 2 x 6 + 105 + 1 [Option ID = 1127840]

4. 5+ 3—-25+20 = 20 x39 [Option ID = 1127841]

Correct Answer :-
e 5+ 3-25+420 =20 %39 [Option ID = 1127841]

10) If ZEBRA can be written as 2652181, how can COBRA be written?

Fe UTHT § afe ZEBRA Hi 2652181 forar <IraT 8 df COBRA &1 & forar wimgam?
[Question ID = 290278]

1. 302181 [Option ID = 1127842]
2. 3152181 [Option ID = 1127843]



3. 31822151 [Option ID = 1127844]
4. 1182153 [Option ID = 1127845]

Correct Answer :-
e 3152181 [Option ID = 1127843]

11) There are six persons — P, Q, R, S, T and U. R is the sister of U. Q is the brother of T's husband. S
is the father of P and grandfather of U. There are 2 fathers, 3 brothers and a mother in the group.
Find out who is the mother in a given group?

seafa e -, &Y, IR, T, AR P IR YA T, AP T WE 3, W & Rrar sk g &
grerol &1 I9g 2 fuar, 3 Wig 3k ue Wi &1 var @ f Te ® 6i i1 82

[Question ID = 290279]

1. P/ Ut [Option ID = 1127846]
2. Q / T [Option ID = 1127847]
3. R/ 3R [Option ID = 1127848]
4. T / 3 [Option ID = 1127849]

Correct Answer :-
« T /< [Option ID = 1127849]

12) In the following question, arrange the given words in a meaningful sequence and then choose
the most appropriate sequence from amongst the alternatives provided below question:

1. Never

2. Sometimes

3. Generally

4. Seldom

5. Always

frafafad uy ¥, fRT 7T sl & v qrde ey # sqafRyd &3¢ iR e 19 fRw e fawent & & wad
UG IpH gH:

1. HW T8t

2. dt-wft

3. JIHTG:

4, Herd

5. U=

[Question ID = 290280]

1. 5,3,2,4,1 [Option ID = 1127850]
2. 5,3,2,1,4 [Option ID = 1127851]
3. 5,2,4,3,1 [Option ID = 1127852]
4. 5,2,1,3,4 [Option ID = 1127853]

Correct Answer :-

« 5,3,2,4,1 [Option ID = 1127850]

13) Which term will replace the question mark in the series:



fFrafafad sear o gof #¢

2,9,28,?,126,217, 344
[Question ID = 290281]

1. 50 [Option ID = 1127854]
2. 65 [Option ID = 1127855]
3. 70 [Option ID = 1127856]
4. 82 [Option ID = 1127857]

Correct Answer :-
e 65 [Option ID = 1127855]

14) In the following question, choose the number-letter group which is different from others.

o T wEr-auf 9E # & 90T 9gg $ uguE |
[Question ID = 290282]

1. 12M [Option ID = 1127858]
2. 24X [Option ID = 1127859]
3. 16P [Option ID = 1127860]
4. 18R [Option ID = 1127861]

Correct Answer :-
e 12M [Option ID = 1127858]

15) In the following question, arrange the given words in a meaningful sequence and then choose
the most appropriate sequence from amongst the alternatives provided below question:

1. Puberty

2. Adulthood

3. Childhood

4. Infancy

5. Senescence

6. Adolescence

ﬁqﬁﬁaua%ﬁqu&’faﬁww%Wﬁm@mﬁaﬁ?ﬁnﬁﬁqwﬁm‘f%aﬂaﬁm
[T ST T

o

[Question ID = 290283]

1. 4,3,1,6,2,5 [Option ID = 1127862]
2.2,4,6,3,1,5 [Option ID = 1127863]
3. 4,3,6,2,1,5 [Option ID = 1127864]
4. 5,6,2,3,4,1 [Option ID = 1127865]

Correct Answer :-



« 4,3,1,6,2,5 [Option ID = 1127862]

16) How many days will there be from 26" January 2004, to 15th May, 2004 (both days include)?
26 W43} 2004 W 15 UE, 2004 (S o1 WfAa §) 9% Fa fFan fa=1 g
[Question ID = 290284]

1. 110 [Option ID = 1127866]
2. 111 [Option ID = 1127867]
3. 112 [Option ID = 1127868]
4. None of these / s:l'ﬁf J ﬁ'sc EHi [Option ID = 1127869]

Correct Answer :-
e 111 [Option ID = 1127867]

17) There are six members P, Q, R, S, T and U in a family. P and Q are a married couple, P being the
male member. S is the only son of R, who is the brother of P. T is the sister of S. Q is the daughter-in-
law of U, whose husband has died. Find out the total number of male members in the given family.

TP URER ¥ 8% 9 @, 7, 3R, U9, € 3R g 31 0t 3k FY U faarfed i 8, ff gow wew 8, o 3R &1
THATE 43 8, S 31 u1g 8, & 0 Y 96 8, T L ey @, et ufd R gept 81 uivar @ gew wew
P A HGAT BT gl G|

[Question ID = 290285]

1. 5 [Option ID = 1127870]
2. 3 [Option ID = 1127871]
3. 4 [Option ID = 1127872]
4. 2 [Option ID = 1127873]

Correct Answer :-
e 3 [Option ID = 1127871]

18) A total of 324 coins of 25 paise and 20 paise make a sum of Rs. 71. The number of 20-paise
coins is.

25 T 3T 20 T & a1 324 Ryawi 8, T ThT 71 T 31 20-T & Riaw! o1 e fHa- 82
[Question ID = 290286]

1. 100 [Option ID = 1127874]
2. 150 [Option ID = 1127875]
3. 200 [Option ID = 1127876]
4. 250 [Option ID = 1127877]

Correct Answer :-
e 200 [Option ID = 1127876]

19) Select the analogy which you think matches best in the given example.



fFrafafad sear ot guf #¥ |
5:625::8:?
[Question ID = 290287]

1. 4096 [Option ID = 1127878]
2. 4111 [Option ID = 1127879]
3. 4286 [Option ID = 1127880]
4. 4450 [Option ID = 1127881]

Correct Answer :-
e 4096 [Option ID = 1127878]

20) Which term will replace the question mark in the series:
fFrafafEa sigen ot guf a3 |

7:19::10:?

[Question ID = 290288]

1. 25 [Option ID = 1127882]
2. 30 [Option ID = 1127883]
3. 21 [Option ID = 1127884]
4. 23 [Option ID = 1127885]

Correct Answer :-
e 25 [Option ID = 1127882]

Topic:- Set09_Math

1) ABCD is a cyclic trapezium in which sides AD and BC are parallel. If angle ABC = 82° then what is
the measure of angle BCD?

ABCD U& g1 JUed aqyd 8, foraa@t AD duT BC YoITE TR TR 8| Ife P11 ABC = 82° &, at Hivr
BCD T HTH T §RT ? [Question ID = 288659]

1. 82° [Option ID = 1121175]
2. 98° [Option ID = 1121176]
3. 41° [Option ID = 1121178]
4. 80° [Option ID = 1121180]

Correct Answer :-
e 82° [Option ID = 1121175]

2) If diagonal of a cube is V24 cm, what is its volume?

Ife T o4 &1 fapof v24 A.1. © o STST A= =T gIIM?

[Question ID = 288660]



1. 16v2 cm3 / 16v2 9.71.3 [Option ID = 1121183]
2. 8v2 cm3 / 8v2 §.11.3 [Option ID = 1121184]

3. 32v2 cm3 / 32v2 9.41.3 [Option ID = 1121185]
4. 12v/2 cm3 / 12v/2 1.3 [Option ID = 1121186]

Correct Answer :-
« 16v2 cm3/ 16v2 9.3 [Option ID = 1121183]

3) If angles of a triangle are in the ratio 3 : 4 : 5, then find the largest and smallest angle
respectively.

gfe fpaft AYS & 10N &7 3gUTd 3 : 4 : 5 8, A IYP HHTT: I 98 TF YA BI HIVT BT T J1d B |
[Question ID = 288663]

1. 75°, 45° [Option ID = 1121192]
2. 80°, 48° [Option ID = 1121195]
3. 100°, 60° [Option ID = 1121197]
4. 110°, 66° [Option ID = 1121199]

Correct Answer :-
e 75°,45° [Option ID = 1121192]

4) Mahesh lent Rs. 100000, partly at 12% and partly at 10% simple interest. After three years he
got Rs. 31500 as total simple interest. How much did he lend at the 12%?

TR 7 100000 ¥ YR T, $T 12% 3R $T 10% ATYRY TS W | fF a6l & q1g A YRV TS &
FUH $d 31500 T A | I 12% Ft &R A fHaq Fue 3ur feu g

[Question ID = 288664]

1. 25000 [Option ID = 1121201]
2. 75000 [Option ID = 1121202]
3. 50000 [Option ID = 1121204]
4. 40000 [Option ID = 1121206]

Correct Answer :-
e 25000 [Option ID = 1121201]

5) Four gallons of a mixture of milk and water contains 12% of water. They are added to six gallons
of another mixture, containing 7% of water and a gallon water is then added to the whole. What is
the percentage of water in the resulting mixture?

24 3R U & Ay & 9R faT | 129% U 8T 81 3% U 3R fryur & o8 eq § wiis faan e 8, o
7% T 3R T Ta= Ui SST SiraT 8 | uRumARaR=v figor § urit %1 ufawra #4971 872 [Question ID =
288668]

1. 19.92% [Option ID = 1121216]
2. 17.27% [Option ID = 1121217]
3. 27.17% [Option ID = 1121218]
4. 18.89% [Option ID = 1121219]



Correct Answer :-
e 17.27% [Option ID = 1121217]

6) Aapti has 1000 kg of salt, part of which she sells at 17% profit and the rest at 7% profit. She
gains 10% on the whole. How much is sold at 17% profit?

Ut 1000 fFauTH THE Uit B, Forad & 98 17% T1H MR TTHT 7% T1H W 99 81 98 W W 10% 1Y
IoTdl B fhamT 17% ATy WR 34T o1 82

[Question ID = 288671]

1. 300 kg / foaam [Option ID = 1121226]
2. 700 kg / f@RIH [Option ID = 1121227]
3. 550 kg / f@RIMH [Option ID = 1121230]
4. 450 kg / fH@ITH [Option ID = 1121232]

Correct Answer :-
« 300 kg / foaom [Option ID = 1121226]

7) In afarm there are A and B. A is a four legged animal and B is a two legged animal. If one counts
the heads, there are 180; if one counts the legs, there are 480. How many animal of kind A are there
at the farm?

T T # T 3R ft § T IR IR arar e iR &t &) IR arar SHaR 31 afe $1s RR & fear g, 1 180 §;
3R P I B A Fa1 8, Y 480 1A &1 Y B H T YR B & fHa SITaR 82 [Question ID =
288672]

1. 50 [Option ID = 1121234]
2. 120 [Option ID = 1121235]
3. 60 [Option ID = 1121236]
4. 140 [Option ID = 1121237]

Correct Answer :-
e 60 [Option ID = 1121236]

8) Three vessels having volumes in the ratio of 1:1:1 are full of a mixture of milk and water. In the
first vessel, ratio of milk and water is 2 :3, in second, 3:7 and in third, 1:4. If the liquid in all the
three vessels were mixed in a bigger container, what is the resulting ratio of water and milk?

1: 1: 1 & 3UTd § g4 aTdl o1 ufdal § g 3R ur=it &1 fyyor gia1 31 ugd udia ®, gU 3R Ut &1 3rgura
2: 38, g H, 3: 7 R AW T, 1: 41 afe Tff 7 ufoe) ¥ @ e vw 98 Fer & e fear s, <t ur=it
3R gU & URUMERG=Y 3uTd 1 ghT 2

[Question ID = 288675]

1.7 : 3 [Option ID = 1121244]
2.3 :7 [Option ID = 1121246]
3.5: 7 [Option ID = 1121248]
4.7 : 11 [Option ID = 1121250]

Correct Answer :-
e 7 :3[Option ID = 1121244]



9) For a regular polygon with N sides, the sum of all the interior angles is three times the sum of its
exterior angles. What can be the value of N?

TS N Yo aral Frafia sg4e & e, 9t siaie @19 &1 a1 SHS T S S AT A AT & N
T T g1 qHdl 32

[Question ID = 288676]

1. 6 [Option ID = 1121252]
2. 8 [Option ID = 1121253]
3. 10 [Option ID = 1121254]
4. 9 [Option ID = 1121256]

Correct Answer :-
e 8 [Option ID = 1121253]

10) A father horse chases his pony 4 hours after the pony runs away from the stable. Horse takes
1.5 hours to reach the pony. If the average speed of the horse is 70 km per hour, then what is the
speed of the pony?

T® HIS Ft frar 3 4 "el ege &1 9o fhar 919 ege sRaaa A YIT TR AT | 9 $i 1.5 6 @A § ege a®
g #, afe oS @ s fa ufa €2 70 it B, <t ege @) 71fa Fa1 82 [Question ID = 288679]

1. 15 kph / foaHTex ufd ©eT [Option ID = 1121263]
2. 18 kph / foraHieR ufd der [Option ID = 1121265]
3. 19 kph / f@tex Ufd et [Option ID = 1121267]
4. 25 kph / faHTex Ufd et [Option ID = 1121269]

Correct Answer :-
« 19 kph / foaHIeR fd ©eT [Option ID = 1121267]

11) What is the distance of the point (- 7, - 24) from the origin (0, 0)?

Td (0, 0) | fig (- 7, - 24) Tt g8 T &2 [Question ID = 288680]

1. 24 units / 3%Ts [Option ID = 1121270]
2. 25 units / 3T [Option ID = 1121273]
3. 31 units / T8 [Option ID = 1121274]
4. 22 units / $Ts [Option ID = 1121276]

Correct Answer :-
e 25 units / WI'Q‘ [Option ID = 1121273]

12) If sum of squares of three numbers is 150 and sum of these three numbers is 30, what is the
sum of these three numbers taken two at a time?

3R 19 F@ma & aif &1 TNT 150 AT € 3R g 7 J=maii &1 917 30 €, ) U IR | 39 i "=aif a1
3 IR & BT AN R &2

[Question ID = 288683]



1. 315 [Option ID = 1121280]
2. 350 [Option ID = 1121282]
3. 375 [Option ID = 1121284]
4. 250 [Option ID = 1121286]

Correct Answer :-
e 375 [Option ID = 1121284]

13) The average of 500 numbers is X. If two numbers 530 and 470 are discarded, the average of the
remaining set of numbers now is 375. What is the value of 500X?

500 T&T3H BT 3T x | afe aF w@mait 530 3R 470 fFyera faar wirar & o o@ 92 gu wemnsit & 9qg 1
37 375 &| 500X BT | T 82 [Question ID = 288684]

1. 190000 [Option ID = 1121288]
2. 195000 [Option ID = 1121289]
3. 187750 [Option ID = 1121290]
4. 178750 [Option ID = 1121292]

Correct Answer :-
e 187750 [Option ID = 1121290]

14) Find the median of the following: 60, 100, 40, 30, 90, 110, 220, 180.

g @t ufersT 319 $3: 60, 100, 40, 30, 90, 110, 220, 180 [Question ID = 288687]

1. 90 [Option ID = 1121297]
2. 30 [Option ID = 1121299]
3. 95 [Option ID = 1121301]
4. 110 [Option ID = 1121303]

Correct Answer :-
e 95 [Option ID = 1121301]

15) For a regular octahedron, E = no of edges, V = number of vertices. Find E — V.

fraftra emys & g, E= fHARY @1 4, V=11 $1 | §| E - V 919 2| [Question ID = 288688]

1. 2 [Option ID = 1121306]
2. 4 [Option ID = 1121307]
3. 6 [Option ID = 1121309]
4. 8 [Option ID = 1121311]

Correct Answer :-
e 6 [Option ID = 1121309]

16) A shopkeeper announces a discount of 10% on a mobile hand-set. If the marked price of the
mobile hand-set is Rs. 20,000, how much will a customer have to pay for buying the mobile hand-set
if the rate of GST is 12%?

TS GPTER A WAEd 88 - A€ W 10% BI Fe &I Ty B § | ie Wiarsd 38 -Ae ot g siaa s



20,000 g, afS UTEd & T SHTadt Bl &R 12% & @t Ued &I Wiasd WiieA & g fanm Y s
BI? [Question ID = 288691]

1. 20160 [Option ID = 1121316]
2. 20060 [Option ID = 1121318]
3. 21000 [Option ID = 1121320]
4. 21600 [Option ID = 1121322]

Correct Answer :-
e 20160 [Option ID = 1121316]

17) The total expenditure of Mr. Sharma & family on a certain quantity of household consumables
was found to be Rs. 15,000 in the year 2006. If the cost of living index number for the year 2016,
taking 2006 as base year, is 230.5, find the total expenditure of the family on the same quantity of
the same household consumables in the year 2016.

oft zrf 3R ufvaR &) Fa ar # W STHRT ImiY ©R Fa W 9 2006 H F15,000 YT | 3R T4 2016 &
1T 35 aTa S SR B AN, YR 99 & FU F 2006 W, @ 230.5 §, I 2016 H JHM F TR IUUTG
TR Bt FHH AET R UNAR & $d oG9 $T Il eME- [Question ID = 288692]

1. 35000 [Option ID = 1121324]
2. 34575 [Option ID = 1121325]
3. 34000 [Option ID = 1121326]
4. 37500 [Option ID = 1121329]

Correct Answer :-
e 34575 [Option ID = 1121325]

18) What is the mean of the first seven prime numbers?

Ugd T U H&T3if o7 3T/ | T M2 [Question ID = 288695]

1. 8.28 [Option ID = 1121334]
2. 8.59 [Option ID = 1121336]
3. 7.98 [Option ID = 1121338]
4. 8.69 [Option ID = 1121340]

Correct Answer :-
e 8.28 [Option ID = 1121334]

19) Calculate the arithmetic mean of the heights (in cm) of 9 students of X class.
154, 160, 159, 158, 156, 155, 154, 149 and 153 cm.

P& X & 9 faendf Y Sumgal ([t F)F sienforia siwa $t 1T $3
154, 160, 159, 158, 156, 155, 154, 149 3fiX 153 T}| [Question ID = 288696]

1. 153.33 [Option ID = 1121342]
2. 155.33 [Option ID = 1121343]
3. 133.55 [Option ID = 1121345]
4. 135.53 [Option ID = 1121347]

Correct Answer :-
e 155.33 [Option ID = 1121343]



20) Two squares ABCD and PQRS have sides x cm and (5 + x ) cm respectively. The sum of their
area is 625 sq. cm. What is the ratio of area of ABCD and PQRS?

Sl AR ABCD 3R PQRS & YT HHTT: x AW 3R (5 + x) A §1 I9F &% &1 A1 625 o7 I 3|
ABCD 3f¥ PQRS & &=0dl HT 3JUTd FT IN? [Question ID = 288807]

1. 9: 16 [Option ID = 1121893]
2. 16 : 9 [Option ID = 1121894]
3.8 : 17 [Option ID = 1121898]
4. 17 : 9 [Option ID = 1121901]

Correct Answer :-
e 9:16 [Option ID = 1121893]



